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Ext  a ) §x'dx= ? b) §e×dx= ?

a)§x2dx=f?
!

- = =3 -

2

b ) fexdx = [ ex ] !
 et -

et =  e' - e -

-

ele - l )
.

) I
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Ext  c ) I ¥adx=?

d)I
Yadx= ?

-  I

4
.

! ¥×dx  = I !
'

dx = In Ilex 't ! -

- o

d, I iii. ↳ = I ax . ¥14

= $4- 2 - ÷×z)dx = [ x - Zarcknx ?

'

=

=
I - 2 archi I - fl - Lantau C - I ) ) = I - 2 - I - ( - I - 2. ( - IT)

= 2 - IT
.
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Anni

fake
In  udda : f  C - x ) =

- f  Cx )
I  txt

fCxI=Y'~ an jamn : ft - x ) = f  Cx )

Fulda :

;g,a×⇒IfWdx=o
f-  Iam "

×⇒§fCx7dx=2§flx)dx
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Ex 8 a ) § ( Ix - 21+1×+11 ) dx  = ?

* -  ne EI i.
'

II ,
hen -

- Eiti
.

⇒ § ( Ix - 21 tlxti 1) dx  = § ( - C x - 2) - C x  ti ) ) dx  + § ( - C x - z ) txt  I ) dx

3

+ f ( x - 2 t  Xt  I ) dx

2

= § I
- 2x ) dx  + ! 3 dx  x µx - c) d x  = ( x - x

"

t [ 3x ?
! ( x

'

- × ?
'

=  - I - C- IT - ( - 3 - C - 35 ) t 3.2 - 3 - C - t ) -132-3 - ( 2
'

- 2 )

= - I - I  t  12+6+3  t 9 - 3 - 2 =  23
.
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4

Ex 8 b ) f 4×2X' → 2-  ×+ ,

DX  = ?

Few tonier  nonwoven :  X
'

- X
'

- X  t I Ginning ⇒ X  =L  an en  wt
.

⇒  x - I  a-  en Ruhr  

it
XZ - I

Pol .
 div : xxt

- 63- xD
⇒ I - 5-  xtl =  Cx- 1) ( ×

'

- I )

-

-  Xel
= ( X - 1) ( x  -11 ) ( X - I )

- C- xtl )
-

= ( x -177×+1 )O

PBO :

x.IE#.--cx:ITx.i,-- ¥
.

- '
' ¥ ¥ .

=

A ( x - 1) 't BC X - 1) C x  -11 ) t  C C xx )
-

( X - 1)
'

l x  -11 )

-

=

( At B ) x 't I - 2  Atc ) x  t A - Btc

-
( x - D

' ( Xfl )
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Ex 8 b)

⇐⇐÷÷÷÷⇐E¥¥÷÷⇒¥¥÷÷⇐¥÷ I

⇒ I
.EE#i*Iffatf-eI.,4d.x--f-hlxeiIthIx-t.E

,I
= - In 14 til t In 14 - I I -

I - f- In 12 tilt 1h12 - I l - ⇒U - I

= - In 5  t In 3 - § - ( - In  3  t In '

I - 2 ) = - In 5+21  u  3  t Y

=
In # tIz .
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EX 9 a ) § xlnxdx  = ? b) To
} inrxdx = ? Sfg -

- Fg - Sfg'

as I :'ngxdx-

-III ; ?

'

- I ax =L in .  - I
=

2 't - I - ( I In I - f ) = 2 in 2 -
I

-

w Y

=  o

T

b, I sinrxdx -

- { IFIFI:
= .

} -

- fsint-

Edt

= f copst ' 2Gt! - # L -

cyst ) -

g?
dt = f  cost .  at 2 snit )

"

O

=
- cos  IT .  25  t 25mi - ( - cos O . 2 - O  t 2 sinO ) =  2  IT

.

- -
- -

= - I =  O
=  I =  O
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EX 9 c ) §( lnx ) 'dx = ?

§ ( thx ) 'd ×  = { t= thx ⇒  X  =  et
luz

dx=  etdt

( ×  = I ⇐ t=o
,

x=z⇐t=wz
}

= ft ?  etdt

-

- Letty
"

? µ t.ua ,

° 't

F g
F g

'

Luz f g 1hL

= ( et . t
'

] - ( et .at - Jet .  zdt )
o F g of g

'

1hL

= [ et .t
'

-
et . et  

t
Zet }

"

I [ e'  - ( t
'

-

21-+2
) ]

O

=
e'  "  2

(C1h25 - 2142-12) -  e°( 02-2 - o-12 )

= 2 ( flu2 )
'

-2142-12) - 2 = 2425-7 In  2+2
=

2 ( In 2 - 1)
2

.


